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( ) 1. Which of the following descriptions about ion channels is incorrect?

(A) Sodium channel can let sodium ion pass.
(B} Ion channel uses ATP to pump ions from one side to the other side of the channel.
(C) Membrane potential can be a mechanism to control the open or close state of an ion channel.
(D) Ligand-gated ion channel needs a receptor binding site to control its open or close state.
() 2. Which of the following descriptions about benzodiazepine is incorrect?
(A) Itis commonly used as hypnotics (2288 ).
(B) Itacts on GABA receptor.
(C) It enhances the GABA receptor function.
{D) It binds to the GABA binding site.
{ ) 3. Which of the following descriptions about sodium channel blockers is incorrect?
(A) Lidocaine, a local anesthetics, can block sodium channel.
(B) Tetrodotoxin (37 B % &) is a pore blocker of sodium channel.
(C) Phenytoin, an anti-epileptic drug, is a pore blocker of sodium channel.
(D) Carbamazepine, an anti-epileptic drug, is a use-dependent blocker of sodium channel.
{ )4. Which of the following descriptions about receptor binding drugs is incerrect?
(A) o-Bungarotoxin, a kind of snake poison, is an antagonist of GABA receptor.
(B) Caffeine is an antagonist of adenosine receptor.
(C) Ketamine is a NMDA neurotransmitter blocker.
(D) Ondansetron, an antiemetics (1k =k ), is a serotonin receptor agonist.
{ ) 5. Which of the following descriptions about neurcnal action potential is incorrect?
{A) Itrequires sodium channel and potassium channel to work together.
(B) When sodium channel opens, it depolarizes the neuronal membrane and promotes potassium channel opening.
(C)  Sodium channel opens faster than potassium channel.
(D) Sodium channel requires potassium channel to close.
() 6. Which of the following descriptions about tricyclic antidepressant (TCA) is incorreet?
(A) I inhibits the reuptake of serotonin at the presynaptic site.
(B) It inhibits the reuptake of norepinephrine at the presynaptic site.
(C) A common side effect of TCA is dry mouth.

(D) It suppresses the degradation of monoamine at the presynaptic site.
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() 7. Which of the following descriptions about thyroid related drugs is incorrect?
(A) In patients with hypothyroidism, thyroxine (T4) supplement is a therapeutic option.
(B) Radioactive iodine (*'I') can destroy thyroid gland because it accumulates in the thyroid stromal cell itself.
(C) Propylthiouracil (PTU) is a drug for hyperthyroidism that inhibits thyroid hormone synthesis by inhibiting thyroid
peroxidase.
(D) Thiocyanate is a drug for hyperthyroidism that inhibits sodium-iodine symporter.
()8 TF7IA MIIE R B el - -5 E5E?
(A) Chloroquine #/EM L b FHERSE -
(B) Quinine £FERALL o PHERS -
(C) Primaquine &;:M L i ¥ e EE 5 o
(D) mEwE-
( )9 FHAMFELEDOME » F4 E4E?
(A) Abendazole T AMFAAATH G F 4 &
(B) Abendazole #44% F #8% & 454 beta-tubulin » 3p %] 44 & (microtubule) . & 4E B -
(C) Abendazole 478 &#v Praziquantel # A -
(D) Praziquantel 8945 Bk ZdpH calcium EAF A H N ig > RS BBRI ML -
( ) 10. F #!4 B selective serotonin reuptake inhibitor (SSRI) #9388 » 7 H 58387
(A) SSRI¥#HAEAWESREA -
(B) SSRI —#gfr &40/ N5 7N - FRAEEIEER -
(C) SSRI & F—EEER  REAH K% serotonin > Z 4 serotonin storm -

(D) SSRI R ft#v menoamine oxidase inhibitor (MAOIDM# B » <7 4 ¢ 4 33 malignant hypertension.

= RHFMR (BEl5 X20%)

() 1. Aspirin could be used to stop heparin-induced intestinal bleeding.

() 2. Ketorolac could be used to treat chronic renal failure.

{ ) 3. Acetaminophen suppresses both cyclooxygenase (COX)-1 and COX-2.
( ) 4. Isoniazid may cause peripheral neuritis.

() 3. Rifampin, if properly taken, always causes orange-color urine.

() 6. The activation of Pyrazinamide requires the presence of protons.

() 7. The activation of Pantoprazole requires the presence of protons.
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{ ) 8. Cimetidine might cause galactorrhea in male patients.
{ ) 9. Magnesium-containing antacids might cause diarrhea.
( ) 10. Metoclopramide stops diarrhea by biocking the serotonin 5-HT4 receptor.
{ ) 11. Octreotide could be used to treat recalcitrant constipation.
{ ) 12. Allopurinol suppresses muscarinic cholinergic receptors to induce hyperuricemia.
() 13. Rapid absorption of Mesalamine in the intestine is mandatory for its effectiveness in the treatment of Crohn’s disease.
() 14. Long-term use of Prednisolone is not suggested for the treatment of ulcerative colitis.
() 15. Tenofovir could be used to treat the infection of hepatitis B virus (HBV) and human immunodeficiency virus (HIV).
( ) 16. Diazepam could be used to stop status epilepticus.
() 17. Zolpidem blocks the activity of GABA, receptors, so it could be used to relieve the intoxication of benzodiazepines
(BZDs).
{ ) 18. Suvorexant suppresses melatonin receptors to induce sleep.
() 19. It takes three hours for Venlafaxine to effectively relieve anxiety.
() 20. Granisetron may cause carsick by activating the dopamine D1 receptor.
Z EE8 (BR245 0 %209)
( ) 1. Which antiplatelet drug can induce coronary steal phenomenon and cannot be used in unstable angina patients?
(A) Dipyridamole
(B) Aspirin
(C} Abciximab
(D) Clopidogrel
() 2. Entresto is used for heart failure treatment. Which is not the action mechanism of entresto?
(A) Inhibit neprelysin by sacubitril
(B) Inhibit AT1 receptor by valsartan
(C) Inhibit neprelysin by LBQ657
(D) Activate AT2 receptor by irbesartan
{ ) 3. Anticoagulants may prolong the bleeding time. Once the anticoagulant induces bleeding problem, which is the correct

match of the anticoagulant and its antidote?

(A) Andexxa is the antidote for dabigatran
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{B) Idarucizumab is the antidote for dabigatran
{(C) Agartroban is the antidote for heparin
(D) Vitamin K3 is the antidote for warfarin
{ }4. Which antihypertensive drug does not have the side effect of hyperkalemia?
(A) Spironolactone
(B) Aliskiren
(C) Prazosin
(D) Triamterene
{ ) 5. Paroxysmal supraventricular tachycardia (PSVT) may be caused by abnormal AV nodal conduction. Which drug and its
action mechanism can be used for PSVT treatment?
(A) Ranolazine, slow activating calcium channel blocker
(B) Adenosine, Al receptor activator
(C) Pindolol, B adrenoceptor blocker
(D) Quinidine, M receptor activator
( ) 6. Which is the action mechanism and side effect of Ivabradine?
(A) I, inhibitor, constipation
(B) Iy, inhibitor, thrombocytopenia
(C) Irinhibitor, luminous phenomena
(D) IXs inhibitor, long QT
{ ) 7. Which is the action mechanism of central acting antihypertensive drugs?
(A) Activate presynaptic al adrenoceptor
(B) Activate presynaptic o2 adrenoceptor
(C) Inhibit postsynaptic B adrenoceptor
(D) Inhibit postsynaptic M1 receptor
( ) 8. Which antiarthythmic drug can increase the effective refractory period of cardiac action potential but does not prolong
action potential duration?
(A) Quinidine
(B) Procainamide
(C) Mexiletine

(D) Sotalol
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{ )9. Which is NOT the hemodynamic benefit of AT1 blocker or angiotensin-converting enzyme inhibitor (ACEI) for long
term use in post myocardial infarction patients?
(A) Reduce water retention
(B) Reduce afterload
(C) Reduce cardiac remodeling
(D} Reduce ventricular ejection time
{ ) 10. Which drug can reduce cardiac oxygen consumption through decreasing ventricular ejection time to improve angina
symptoms?
(A) Nitroglycerin
(B) Pindolol
(C) Hydralazine

(D) Bisoprolol

m. FiEM (B2 #£205)

( )1. T % B Fluoxetine 8 £ i f7 4 8327
(A) =T L B #4  bipolar depression & & A%
(B) ¥ codeine #9ikB A RA BT
C) ¢HERARKREER
D) % CYPID6 % 7% st e 445 A2

()2 FTHEBTEEERPBEERMAE (colonic pseudo-obstruction) &£ 5% A2
(A) Alvimopan
(B) Lubiprostone
(C) Magnesinm hydroxide

(D) Neostigmine

( )3 FHEMTETRAMEBA 6 KGR A (constipation-predominant irritable bowel syndrome)?
(A) Alosetron
(B) Linaclotide

(C) Metoclopramide

(D) Infliximab E‘ éF? @
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(4. FZZ 4% psoriasis 89 & 4p » B H M &94E B Sl 175 S8 9R7
(A) Secukinumab & IL-17A 938 » AL X E EE£631ER
(B) Acitretin & #1745 KM E 4 etretinate M Aok Bk
(C) Calcipotriene #i betamethasone & F 7 2438 Aok 34

(D) Apremilast & PDE4 dp3l8] > #38 T EEGHEE

()5 T %4 M Ciprofloxacin &) & it -E EE?
(A)  * 245 A2 I3 ta th 69 dihydrofolic acid reductase
(B) # Azithromycin 48 &6 8 #HKE (gonococcus) #y & E &4y
(C) $1#4b quinolone $&# MR F) » & ikdpd CYP3A4

(D) &H#HKE (staphylococei) B, % BT LA 4 Rifampin 4-H

()6, T FH M5l Be Bl e Sl 47 £ S3R?
(A) 4£R NaHCO; #F R REam A 5 5 § 2 metabolic alkalosis
(B) M %% NaHCO; B4 S48 55 $%EHBmE (hypercalcemia)
(C) AWOH); # CaCO; & § & £ 184

(D) —45 T 85AR A Mg(OH), & AlOH); 8y B 8 X 2 2 & .18

( )}7. F7I4 B Allopurinol &4 ufT 4 E#E?
(A) €% Azathioprine &4 # 1%
(B) #&AnMi¥4E A Allopurinol 8 - 4845 B Colchicine
(C) Allopurinol §-42 ift 0 B4 ] 64 48 3%

(D) llopurinol ¥H4% %M %45 k& (idiopathic hypercalciuria) & /6 5 2 R

()8, TRt R ipTE R & GHpd DPP-4?
(A) Canaglifozin
(B) Linagliptin
(C) Liraglutide

(D) Tolbutamide
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()9, TH&dpeTH & A7 Osteoporosis 74 &7
{A) Calcitonin
{B) Cinacalcet
{C) Denosumab

(D) Teriparatide

{ )10, F3 %447 &% R 7 idiopathic thrombocytopenic purpura 76 #&7
(A) Adalimumab
{B) Cyclophosphamide
{C) Gamma globulin

{D) Vincristine

. FBIEME (#£249)

ILHBHAERARANEEA VX 50 RUBEHAMKAT VX #HEA% > TRAVSBEALSSNES &
RRBFRT K RERT (S %)

2R EMHARIREMNFROTRRARAREZE - (4%)

BSANBEZNRIABEARL - B PHEEERRGRBERFTRATHES - (6%)

ARBE - 2RENYEFEF(T0kg)BANE HE 056 HHEBEHbs ot LBREAFMIBWERZE S D 1 od o

B Fe o BB AR AR 47 (alcohol metabolic rate: 100 mg/kgrhr) (5%)
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